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Sixth Semester B.Arch. Degree E*cammatlon, June/July 2018
Structura&: vi

Time: 3 hrs. () Max. Marks: 100
Note: 1. Amwérﬁny FIVE full quectt’am
2. Uw o IS:800 and Steel tables is allowed.
3 A ssume any missing data suitably.

N\

1 a. Define Pitch, Stagg\cmﬂ pilch edge distance, Gauge distance and Bolt value.
b. Determine the bracl\et 'load ‘P’ that connection can carry. Use M18 bolts with property class

5.6. Refer Flg Ql(b) and assume missing data. (15 Marks)

(05 Marks)
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2 a. Write a note on welding methods. . \\\": (08 Marks)
b. A tension member ISMC 300 connected to gusset platg l{Sln\g welded connection to carry a
load equal to full strength of the member. Des:gn wel “connection for given member as

shown in Fig.Q2(b). ,V\\ (12 Marks)
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Fig.Q2(b)

3 a. What are the advantages and disadvantages of welded connection? (06 Marks)
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b. A T-section of size 150x150x10 mm is wclpc.iqdu’ o a column as shown in Fig.Q3(b).
Determine the bracket load it can carry. Take ‘si;/,é'ofwcld of as 8 mm. (14 Marks)
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4 Designa tel;xlgmh;h‘lember using single angle section to carry load of 180 kN. Use HSFG bolts of
M20 witl(m\\\p\@ﬁa—ty class 8.8. Do the necessary check. (20 Marks)
3 AR
O E 25NV
load® of

A (('t/) \ . .
Desl sna column section using double channels back to back to carry a factored

5
\Q{f(\ﬁ)kN The height of the column is 5 m with both the end hinged. Also design a;js}lifable
\ -\gai‘,ing system. (,;\(\\::.(%Marks)
S NS
\ (@)\

L7,

>
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Ny Y6 Design a slab base for a column ISHB 300@ 58.8 kg/m carrying an axia\'l-csfﬁl)ctored load of

AU
SNS). -
N 1000 kN. M20 concrete is used for foundation. Provide welded connecticﬁ:ﬁéﬁveen column and
) base plate. Draw plan and elevation of slab base. "G }Tf/‘ (20 Marks)
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7 Design a beam for a roof of size 7.5m x 12m. Provided IOOm‘rg{t\l\fra? RC slab supported on steel
beams at 3m apart c/c. Live load and finishing load taken a§\41f_< N/m? and 1 kN/m? respectively.

Take limiting deflection as span/250. Assume wall thik%gqess, self weight of beam as 250 and
Q)

1 kKN/m respectively. &\\BJ (20 Marks)
e
< &H,\K-
8 Write short notes on : \Q\S\\«)
N

Fire protection for steel structures

Defects in welded connection witlpskgtéhcs

Advantages and disadvantages of Bolied connection over welded

Types of compression and Tgnis\‘\i;(\}'hl‘r’hcmbers used with sketches
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(20 Marks)
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